
MULTIPLYING METHODS: DISTRIBUTIVE PROPERTY 
Recognizing Patterns
Below are 4 different expanded expressions. What do they have in common?
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[bookmark: _heading=h.q1cgfasof3le]Verbalizing
Generalize what you observed above. Explain what is happening in the pattern you see.


[bookmark: _heading=h.cc6azd20rt0i]Applying
Use your generalization to multiply: (x – 2) (x2 + 5x – 3).  






MULTIPLYING METHODS: BOX METHOD 
[bookmark: _heading=h.wblcylz133yc]Recognizing Patterns
Below are 4 different expanded expressions. What do they have in common?

			x	+ 2
x	x2	+ 2x
+ 3	+ 3x	+ 6
						x	– 2
x	x2	– 2x
– 3	– 3x	+ 6
		
			x	+ 2
x	x2	+ 2x
– 3	– 3x	– 6
						x	– 2
x	x2	– 2x
+ 3	+ 3x	– 6
		


[bookmark: _heading=h.62ds9u2okoaq]Verbalizing
Generalize what you observed above. Explain what is happening in the pattern you see.


[bookmark: _heading=h.6jito4ygeutt]Applying
Use your generalization to multiply: (x – 2) (x2 + 5x – 3).


MULTIPLYING METHODS: VERTICAL (STANDARD) MULTIPLICATION
[bookmark: _heading=h.9mtbbxao42kc]Recognizing Patterns
Below are 4 different expanded expressions. What do they have in common?

	
	




[bookmark: _heading=h.q160dmn6j7sl]Verbalizing
Generalize what you observed above. Explain what is happening in the pattern you see.


[bookmark: _heading=h.vpvcd7splz0e]Applying
Use your generalization to multiply: (x – 2) (x2 + 5x – 3).


MULTIPLYING METHODS: GEOMETRIC AREA (ALGEBRA TILES)
[bookmark: _heading=h.yhx31m67z75e]Recognizing Patterns
Below are 4 different expanded expressions. What do they have in common?
							
							


[bookmark: _heading=h.jv5z8rmyc41d]Verbalizing
Generalize what you observed above. Explain what is happening in the pattern you see.

[bookmark: _heading=h.o7mg4nz470js]Applying
Use your generalization to multiply: (x – 2) (x2 + 5x – 3).
								[image: ]MULTIPLYING POLYNOMIALS
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